=%y7tx 9

et

O~
91 2

o

HE 129? (B 370)

@ 3+ 7Holl 2009981 A9 x Q] 714 y ¥

@ 7t29] Zo|7} 6em , A2 2] Zo]7F xem , 91 ZAMZE 9] Y o]
2
ycm

® A% ¢ Hp Ze By
@ y = Augo] x A %

® 25% 9] A5 xg ol 591 %

A

rr

—/JK—T_:ILQJ C)o]: g



ozt

?_

© A% xkm 2y A7 5 E ¥ AE= 90km o]t}

® A% x o A=




@ f(-2)=8 ® f(0)=0

@ f(1) = -4

0 /(3)-4

0 s(8)



g fx) = 2 +1,g(x) = R off thste] 2£(10) - 3g(5) < k=

) by
Fatolet.

> L
=%



4 f(x) = ax— 6 o 5t f(-2) = 8 & W, AJ= a 9] & F-5F
o]

e,
a Ela=



T4y = ol wiste] f(=3) =4 A, f(-2) O @

D -6 @ -3 ® 0 @ 3

09



(x) =2x+2, g(x) = x—1°] tiste] f(2) +2g(-1) o] Ft-=
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